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SA -3 SASA) - MIRAY - B85 Ol &4 JIEH BlusZ
Off LA X1 27,027,100 26,813,477 213,623
= 9,700,083 9,408,228 291,855
N 640,000 640,000 0
Jl 3,407,300 3,407,300 0
S 13,279,717 13,357,949 NT78,232
HUX AHSH (A - SAIY/HHX LI 22,837,873 22,691,207 146,666
= 8,923,083 8,641,228 281,855
Xl 640,000 640,000 0
Il 3,407,300 3,407,300 0
< 9,867,490 10,002,679 A 135,189
ATHENU X e 2 25 13,206,228 13,356,511 A 150,283
= 1,643,000 1,643,000 0
N 640,000 640,000 0
Jl 3,407,300 3,407,300 0
=S 7,515,928 7,666,211 A 150,283
AITHAO0I L X AlE 2kl 323,261 368,261 45,000
201 et 233,261 278,261 45,000
02 523l 179,761 224,761 45,000
OSHLHHI 32 59,000 65,000 26,000
os=ggdI| I RAE=s 112,361 151,361 39,000
BHag 22 U2 084l 23 (2HFNL) 96,000 120,000 A24,000
403 A XISHHSX=01H 96,000 120,000 A24,000
01 [XISMA2E X 96,000 120,000 A24,000
Ootfg = U=sH 01844l B 96,000 120,000 A24,000
JEHUR 28 s9AE DESHIIAEXR) 12,717 80,000 AB7,283
403 A XIEHSA=01 S 12,717 80,000 AB7,283
01 XM= Ex 12,717 80,000 AB7,283
OJBINURX & =8Ald N3t 12,717 80,000 NB7,283
2 ATHAMOIU X 2SI JHEHE B Ed X 140,000 154,000 A 14,000
207 A0 | 140,000 154,000 A 14,000
01 gx1E4HI 140,000 154,000 A 14,000
OMMAENUHX EHEX N EtEd ZA 140,000 154,000 A 14,000
I X Kb 2tel 6,922,949 6,775,811 147,138
= 6,087,478 5,937,478 150,000
< 835,471 838,333 A2,862
SADA BEHIE MEEY FA 20,138 23,000 N2,862
207 A 1OH | 20,138 23,000 N2,862
01 A2 S| 20,138 23,000 N2,862
OZAIJIA BSSHIE &8 EY 20,138 23,000 A2,862
SOE 0SSl PG A8MEYI B3A (32 600,000 450,000 150,000
= 600,000 450,000 150,000
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403 MRS S K201 A 600,000 450,000 150,000
= 600,000 450,000 150,000
01 AXSHMA2E R 600,000 450,000 150,000
O=s0E OS2 PG A8 NHEET E= A 600,000 450,000 150,000
= 600,000 450,000 150,000
HSINSA E5 1,499,336 1,349,525 149,811
= 1,192,605 1,060,750 131,855
= 306,731 288,775 17,956
HANATISIHNGY) ES(21) 262,411 226,200 36,211
= 201,855 174,000 27,855
< 60,556 52,200 8,356
403 MRS S =01 A 262,411 226,200 36,211
= 201,855 174,000 27,855
= 60,556 52,200 8,356
01 AXISHMA2E L 262,411 226,200 36,211
OFAHINATISI E= 262,411 226,200 36,211
= 201,855 174,000 27,855
< 60,556 52,200 8,356
MINSK BE= &L szt RF(F1) 1,172,800 1,059,200 113,600
= 952,000 848,000 104,000
< 220,800 211,200 9,600
403 MRS S K201 A 1,172,800 1,059,200 113,600
= 952,000 848,000 104,000
= 220,800 211,200 9,600
01 AXISHMA2E L 1,172,800 1,059,200 113,600
OXIIX=sX E5 & SHAE A= 1,172,800 1,059,200 113,600
= 952,000 848,000 104,000
< 220,800 211,200 9,600
JISHSIUH FX(SBHZES/SBEES UL 1,687,800 1,677,800 10,000
= 777,000 767,000 10,000
< 910,800 910,800 0
Jl=8stdE o IFUAAXR 491,000 481,000 10,000
= 403,000 393,000 10,000
= 88,000 88,000 0
HIAAE R AIZE 240tA MHHLE X2 (212) 190,000 180,000 10,000
= 150,000 140,000 10,000
= 40,000 40,000 0
308 At XISHHMSOIH 110,000 100,000 10,000
= 110,000 100,000 10,000
01 IXEHBAEES 110,000 100,000 10,000
OJI=XAH DeelH(OBAEE) &8 X 110,000 100,000 10,000
= 110,000 100,000 10,000
MHEPES(HEXD) (MY - A /0HEHNL IR 2,376,506 2,319,549 56,957
RSN 116,506 59,549 56,957
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™. CRA(ZH) - MEAY - BHAES =
NUXIEGRANLREE 2 02xF gHEt 116,506 56,957
802 BHEt2 DI E} 116,506 56,957
=8E3 116,506 56,957
S JISBEMEIZLIEE 22,224 20 204
B2 DSBS ME2LIHE 8,147 0 8,147
SESEFEANAE HES2 6,290 0 6,290
EH2erd AH| AXIAY 11,098 0 11,098
NEAAE AXALS 9,198 0 9,198




